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Bl Exercise-1 |

ONLY ONE OPTION CORRECT TYPE

Section (A) : Chemisty in every day life

1. Morphine is used as an

(1) Antipyretic (2) Antiseptic (3) Analgesic (4) Insecticide
2. Which of the following is not an alkaloid ?

(1) Reserpine (2) Morphine (3) Quinine (4) Phenylbutazone
3. The antibiotic used for curing tuberculosis is :

(1) Penicillin (2) Streptomycin (3) Tetracycline (4) Chloromycetin
4, The drugs used to get relief from pain are called :

(1) Antipyretics (2) Analgesics (3) Antibiotics (4) Antiseptics
5. Which of the following is not an antiseptic drug ?

(1) lodoform (2) Dettol (3) Gammexane (4) Gentian violet
6. A medicine which promotes secretion of urine is called :

(1) Diuretic (2) Antipyretic (3) Analgesic (4) Sedative
7. The antiseptic action of Dettol is due to

(1) Chlorobenzene (2) Chloroxylenol (3) Chloroquine (4) Chloramphenicol
8. Which of the following is an ingrain dye ?

(2) Alizarin (2) Cellition fast blue B (3) Para red (4) Indigo
9. Which of the following is a direct dye ?

(1) Congo red (2) Martius yellow (3) Phenolphthalein (4) Both (1) and (2)
10. Which of the following is an azo dye ?

(1) orange-I (2) Malachite green (3) Indigo (4) Martius yellow
11. Dyes which are prepared right on the fabric during dyeing process are called :

(1) Direct dyes (2) Azo dyes (3) Disperse dyes (4) Basic dyes
12. Which one is an acidic dye ?

(1) Methyl orange (2) Congo red (3) Orange-I (4) All the three
13. A dye which is obtained from a largely grown plant in india is

(1) Indigo (2) Turmeric (3) Malachite green (4) Martius yellow
14. Which of the following is a disperse dye ?

(1) Congo red (2) Alizarin (3) Butter yellow (4) Celliton fast pink B
15. A composite solid propellant is

(1) N,O, + acryclic rubber (2) N,O, + monomethylhydrazine (MMH)

(3) Polyurethane + ammonium perchloride (4) Nirocellulose + nitroglycerine
16. The PSLV rocket used

(1) Only solid propellants (2) Only monoliquid propellants

(3) Only biliquid propellants (4) Both solid and biliquid propellants
17. Octane number is zero for -

(1) Isoheptane (2) n-heptane (3) Isooctane (4) n-octane
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18. Petroleum is obtained from water gas, name of the reaction involved is -
(1) Fischer-tropsch (2) Bergius (3) Dow’s (4) Kjeldahl's
19. Which of the following represents a biliquid propellant ?

(1) Liquid N,O, + unsymmetrical dimethylhydrazine (UDMH)
(2) Liquid N,O, + acryclic rubber

(3) Nitroglycerine + nitrocellulose

(4) Polybutadiene + ammonium perchlorate

20. Which of the following represents a double base propellant ?
(1) Nitromethane (2) Nitrocellulose + nitroglycerine
(3) N,O, + monomethylhydrazine (4) Liquid H, + liquid O,

Section (B) : Nucleic Acids and Lipids

1. The sugar present in DNA is :

(1) Glucose (2) Deoxyribose (3) Ribose (4) Fructose
2. The pentose sugar in DNA and RNA has the :

(1) Open chain structure (2) Pyranose structure

(3) Furanose structure (4) None of the above
3. Which of the following is not a pyrimidine base ?

(1) Uracil (2) Guanine (3) Cytosine (4) Thymine
4, Which of the following statements about RNA is not correct ?

(2) It has a single strand (2) It does not undergo replication

(3) It does not contain any pyridimine base (4) It controls the synthesis of proteins
5. Oils and fats are esters of higher fatty acids with :

(1) Ethanol (2) Glycol (3) Glycerol (4) Methanol
6. The cheif constituents of cell membranes are :

(1) Simple triglycerides (2) Waxes (3) Phospholipids (4) Proteins
7. The fats present in the body act as

(1) Food storage only (2) Heat insulator only

(3) Shock absorber only (4) All the three above
8. The most concentrated source of energy in the human body is

(1) Fats (2) Sugars (3) Proteins (4) Nuclei acids

Section (C) : Enzymes and Hormones

1. Enzymes are
(1) Carbohydrates (2) Nucleic acids (3) Globular proteins  (4) Fibrous proteins
2. Mark the wrong statement about enzymes ?

(1) Enzymes are biological catalysts.

(2) Each enzyme can catalyse a number of similar reactions.

(3) Enzymes are very efficient catalysts.

(4) Enzymes are needed only in very small amounts for their action.

3. The disease phenyl ketone urea is caused by the deficiency of
(1) Phenylalanine hydroxylase (2) Vitamin A
(3) Lysine (4) Leucine
4. Enzyme trypsin coverts :
(1) amino acids into proteins (2) glucose into glycogen
(3) starch into sugar (4) proteins into amino acids
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5. The disease albinism is caused by the deficiency of

(1) Phenlalanine hydroxylase (2) Tyrosinase

(3) Emulsin (4) Lactase
6. The first hormone to be isolated and also the first to be synthesized in the laboratory was

(1) Insulin (2) Testosterone (3) Cortisone (4) Adrenaline
7. Which of the following is a male sex hormone ?

(1) Progesterone (2) Estrone (3) Epinephrine (4) Testosterone
8. The sex hormone which controls the development and maintanance of pregnancy is

(1) Cortisone (2) Thyroxine (3) Progesterone (4) Estrone
9. Insulinis a:

(1) Steroid hormone (2) Peptide hormone  (3) Amine hormone (4) None of the above
10. Saliva contains

(1) Amylases or ptyalins (2) Trypsin (3) Blue fluid (4) Vitamins

Section (D) : Vitamins

1. Which of the following is a vitamin ?

(1) Glucose (2) Keratin (3) Maltose (4) Riboflavin
2. The best source of vitamin A is :

(1) Oranges (2) Beans (3) Carrots (4) Wheat
3. Vitamin D is called :

(1) Ascorbic acid (2) Calciferol or ergocalciferol

(3) Thaimine (4) Riboflavin
4, Which of the following is found in cod-liver oil ?

(1) Vitamin C (2) Vitamin E (3) Vitamin A (4) Vitamin B,
5. Vitamin E is also called :

(1) Cyanocobalamin (2) Tocopherol (3) Lactoflavin (4) Ascorbic acid
6. The best source of vitamin C is :

(1) Code liver oil (2) Egg yolk (3) Citrus fruits (4) Fish liver oil
7. Nervousness anaemia is caused by the deficiency of vitamin

(1) B, (2) B, (3) B, (4) B,
8. Deficiency of vitamin E causes

(1) Scurvy (2) Loss of appetite

(3) Loss of sexual power and reproduction (4) Beriberi
9. Which of the following is fat soluble vitamin ?

(1) Vitamin A (2) Pyridoxine (3) Riboflavin (4) Thiamine
10. Identify the vitamin whose deficiency in our food decreases reproductive power :

(1) vitamin A (2) vitamin C (3) vitamin D (4) vitamin E
11. Beri-beri is casued due to :

(1) vitamin A (2) vitamin B (3) vitamin C (4) vitamin D
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Section (E) : Dipole Moment

1. Arrange the following in decreasing order of dipole moments.

HSC\C B C/C' e\, - o/t HSC\C B C/C'

he o’ i o’ “cH,

I II I1I

@lI=>1u=nu @ Hm>1>1 @G H=>1>1 @u>1>1
2. Dipole moment is shown by :

(1) 1,4-Dichlorobenzene (2) Trans—1—chloroprop—1-ene

(3) E-1,2 —Dibromoethene (4)CH,=C=CH,

CH,

3. Which will have higher dipole moment than —/ ?
Cl
CH, CH, CH, CH,
| Br F CH,

4, False statement about dipole moment is :
(1) Dipole moment is a vector quantity.
(2) Dipole moment depends on charge.
(3) Geometrical isomers have same dipole moment.
(4) Optical isomers have same dipole moment.

5. Which of the following has net dipole moment ?
OH CN
cl cl " NH
1 2 3 4
(1) @ _X_g ® N (4)
HO NC CN
6. Which compound should have zero dipole moment ?

O O
0 o N 7
) %CA@, & @ HO/COC\OH
cHo” NocH,
@) NCO CN

7. The increasing order of dipole moment of following compounds is :
CH
NO, OH NO,
1 2 3 4
(1)3<1<4<2 (2)1<4<3<2 (3)1<3<4<2 4)1<3<2<4
8. The correct order of dipole moment is :
H,N H H,N CN NH CH,-CN NC H
: \c=c< “>c=c ~c=c ~Nc-c”
H CN H H H" H H-" . CN
(P) (@) (r) (s)
(Hp>r>qg>s (2)g>p>r>s (@) r>s>q>p (4)p>q>r>s
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Which of the following isomers having molecular formula C,H,Br, has highest dipole moment and

boiling point but lowest melting point.

Br/ AN N
H B
3) \ / ' (4) Not applicable to any single isomer

T N

Which compound have maximum dipole moment ?
ONa COONa COONa

o o0 ©

NO,

Section (F) : Boiling point

1.

(I) 1,2-dihydroxy benzene (IT) 1,3-dihydroxy benzene

(IIT) 1,4-dihydroxy benzene (IV) Hydroxy benzene

The increasing order of boiling points of above mentioned alochols is

DI<I<III<IV 2 I<II<IV<II @OIV<I<II<III DHIV<II<I<III

Arrange the following in decreasing order of their boiling points.

OQO

| |

OH ) CH, H

(w) ) (v) (2)
LDw>x>z>y @Qw>x>y>z B)w>z>y>x dw>z>x>y

The correct boiling point order is :

1 2 3 4
1D4>1>3>2 22>3>1>4 (3)1>2>3>4 4)2>4>1>3
Correct boiling point order for [ to IV is :

CH,F CH_Br CH.CI CH.I
I Il 11 v
@ir=n>1m=>v @) Iv=>11>1>1 @) u=>v=>I1=>l @Iwv=>1>1>1
Which property of organic compound decreases boiling point.
(1) Increase in length of hydrocarbon chain (2) Increase in H-bonding
(3) Increase in molecular weight (4) Decrease in size of halogen
Decreasing order of boiling point of | - IV follows.
O‘Pr ?Et O‘CHS o\a
CH,~CH-Br CH,—CH-OEt CH,~CH-OCH, CH,—OEt
| Il 1] v
@i=n>m=>v @1>1>1v=>ll @)IV=>1>11>1 @u=>1>1=>1v
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Decreasing order of boiling point of | to IV follow

Methylformate Ethylformate Iso-propylformate n-propylformate

I I [ \

@li>u=>1m=>1v @ m=>1v>Il>l @)IV>lI>11>1 @I1>1>1v>ll

Section (G) : Melting Point

1.

Which compound has highest melting point ?
(1) o-Dibromobenzene (2) m-Dibromobenzene
(3) p-Dibromobenzene (4) Bromobenzene

Which will have highest melting point ?

(1) VAN ) /\/\OH 3) N O 4) SN

Which will have highest melting point?

(1) orthohydroxyphenol (2) metahydroxyphenol (3) parahydroxyphenol (4) paramethylphenol

Which order is correct regarding melting point ?

CH H
1) CHS\(;:C/CH3> 3>C=C< o CH, =C/CI> CHg\C=C/H
H” H H CH, H” H H Cl
Cl Cl CH, CH,
Cl Cl
3) > 4) >
Cl Cl
Identify the correct order of melting point of the following compounds
7 e,
(1) H:€C - CH—-CH, - OH (2) CH, - CH, - (le — CH, (3) CH; - <|3 - OH
OH CH,
(1)3>1>2 (2)3>2>1 3)1>2>3 (4)2>1>3

Which will have highest melting point ?

Which of the following compounds have highest melting point ?

OH

00 OO «COL o0
OH OH
OH

o
v

) @) @) 20000

In which case first has higher melting point than second?
OH

(1) <07 and )\
@) - "N and )</ OH

@) - "and ~

C
@) - ""and -~ !

Page| 26



CHEMISTRY FOR NEET CHEMISTRY IN EVERDAY LIFE

9. Decreasing order of melting point of compound | - IV follows
CHO CHO CHO

S 5O G

@Iv=>1=>l1>1 @1=>n>1>1v (3)II>III>IV>I

Section (H) : Solubility in water

1. Which of the following has lowest solubility in water ?

(1) CH,CH,CH,OH (2) CH,-— CHCH,0H  (3) HOCH, — CH,OH
I

CH,

2. Correct water solubility order/s amongst the following pairs is/are :

COOCH

@ 11>V > 1> |

(4) C,H,CH,CH,OH

COOH

I
(1) CH,~CH,~CH,—~CH,—OH >CHj —c|: OH (2

o
v

Cl Cl
3) > . @ ez > PNzl =oon
H™ ScooH HT W
Cl
3. Arrange the following in decreasing order of their solubility in water
CHS\C _ C/CH3 CH3\C _ C/H CH,_ CHB\C ) C/H
IRy H Ngn,  HT H" cooH
I , (IT) , (L) (v
@m=>r>i1>i\v @u=>iv>Ii>1 @ IvV>I1>1>1 @IV>I>11>1
4, The correct order of solubility in water is :
H CH3
I I
(a) CH,OH (b) CH,CH,OH (c) CHz —C—CHjy (d) CH3 —C—CHg
| I
OH OH
La>b>c>d 2)b>a>c>d (3)d>a>b>c 4b>c>a>d
5. Which have maximum solubility in water, for nearly same molecular weight compounds.
(1) Alkane (2) Alkene (3) Alcohol (4) Ether
6. Which alcohol has least solubility in water ?
(1) Ethanol (2) Propan-1-ol (3) Butan-1-ol (4) Pentan-1-ol
7. In which case first has higher solubility than second ?
(I) Phenol, Benzene (1) Nitrobenzene, Phenol
(Ill) o—Hydroxybenzaldehyde, p—Hydroxy benzaldehyde (V) CH,CHO, CH.—~O-CH,
CHO CHO
(V) o—Nitrophenol, p—Nitrophenol (VI (VI) q
%OH
(1) only | @, v 3 LIV 4 1, IV, VI
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8. Which of the following statement is correct about tropolone?
OH
O
(1) Solubility of (tropolone) is less than (tropone).
OH
0]

(2) Tropolone has more stability and aromatic character than tropone.
(3) Tropolone has higher dipole moment than tropone.
(4) Tropolone has lower boiling point than tropone.

9. Decreasing order of solubility of following compounds is :
ﬁ h "OH g g
0] O 0] 0]
I Il 1] Y]
@I>1>1s>1v @ 1>1>1>1V @n>n>Ir>v Q) IV>1> 10>
10. Which carboxylic acid has maximum solubility in water ?
(1) Malonic acid (2) Succinic acid (3) Salicylic acid (4) Phthalic acid

Section (1) : POC-II

1. Which of the following compounds form salt with HCI ?
OH NH, COOH CHO
2. Which of the following compounds form salt with NaHCO, ?
H-N-CH, COOCH, COOH OH
QO e e o0
3. Which of the following compound cannot form salt with H,O, NaHCO,, NaOH and HCI ?
OH COOH NH,
4, The blood red colour in the combination test of nitrogen and sulphur in organic compound is due to the
formation of :
(2) ferric sulpho cyanide (2) ferric acetate
(3) ferrous sulpho cyanide (4) ferric cyanide
5. In Lassaigne’s test, the organic compound is fused with sodium metal as to :

(1) hydrolyse the compound

(2) form a sodium derivative

(3) convert nitrogen, sulphur or halogens if present into soluble ionic sodium compound
(4) burn the compound
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NH.CI NO,
Cl
6. and can be differentiated by :

(1) Ammonical AgNO, (2) Fehling solution (3) FeCl, (4)Br,/H,0O

o
v

7. When the mixture of [A + B + C] is dissolved in NaHCO,, A dissolves in NaHCO,, B & C remain as a

residue after that residue dissolves in ag. NaOH, C dissolves in it and B remains as residue. A, B and
C will be respectively.
COOH

CH, OH
1) , @

CH, C,H,

CH,

CQHS
OH NH,
a) CH/CHZ — COOH @
*NCH, - COOH ' ’ ’
Cl
SO.H CH,
Q@ . OO ©
Br CH,
NH, NH,
8. © and © can be differentiated by :
(1) NaHCO, (2) CHCI, and KOH
(3) NaNO,, HCI then B-napthol (4) NaOH

Bl Exercise-2

ONLY ONE OPTION CORRECT TYPE

1. Which of the following statements is not correct.
(1) Some antiseptics can be added to soaps.
(2) Dilute solutions of some disinfectants can be used as antiseptic.
(3) Disinfectants are antimicrobial drugs.
(4) Antiseptic medicines can be ingested.
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Which is the correct statement about birth control pills ?

(1) Contains estrogen only

(2) Contain progesterone only

(3) Contain a mixture of estrogen and progesterone derivatives.
(4) Progesterone enhances ovulation.

Which statement about aspirin is not true
(1) Aspirin belongs to narcotic analgesics. (2) It is effective in relieving pain.
(3) It has antiblood clotting action. (4) It is a neurologically active drug.

The most useful classification of drugs for medicinal chemists is
(1) on the basis of chemical structure. (2) on the basis of drug actlon
(3) on the basis of molecular targets. (4) on the basis of pharmacological effect.

Which of the following statements is correct?

(1) Some tranquilisers function by inhibiting the enzymes which catalyse the degradation of
noradrenaline.

(2) Tranquilisers are narcotic drugs.

(3) Transquilisers are chemical compounds that do not affect the message transfer from nerve to
receptor.

(4) Tranquilisers are chemical compounds that can relieve pain and fever.

Salvarsan is arsenic containing drug which was first used for the treatment of

(1) syphilis (2) typhoid (3) meningitis (4) dysentry

A narrow spectrum antibiotic is active against .

(1) gram positive or gram negative bacteria. (2) gram negative bacteria only.

(3) single organism or one disease. (4) both gram positive and gram negative bacteria.

The compound that causes general antidepressant action on the central nervous system belongs to the
class of .
(1) analgesics (2) tranquilizers (3) narcotic analgesics (4) antihistamines

Compound which is added to soap to impart antiseptic properties is

(1) sodium laurylsulphate (2) sodium dodecylbenzenesulphonate
(3) resin (4) bithional

Equanil is

(1) artificial sweetener (2) tranquilizer

(3) antihistamine (4) antifertility drug

Which of the following enhances leathering property of soap?
(1) Sodium carbonate (2) Sodium rosinate (3) Sodium stearate (4) Trisodium phosphate

Glycerol is added to soap. It functions .
(1) as afiller. (2) to increase leathering.

(3) to prevent rapid drying. (4) to make soap granules.
Which of the following is an example of liquid dishwashing detergent?
(1) CH,(CH,),,—CH,0SO, Na* 2 CnggOO+CH2—CH2—O—)5—CH2CHZOH
CH, |’
I
(3) CH,SO,Nar (4) | CH,(CH,),; —~N-CH, | Br
I
CH,

Page| 30



CHEMISTRY FOR NEET

CHEMISTRY IN EVERDAY LIFE

14.

15

16.

17

18

19.

20.

21.

22.

23.

24,

25.

Polyethyleneglycols are used in the preparation of which type of detergents?
(1) Cationic detergents
(3) Non-ionic detergents

Which of the following is not a target molecule for drug function in body?

(1) Carbohydrates

Which of the following statements is not true about enzyme inhibitors?

(2) Lipids

(1) Inhibit the catalytic activity of the enzyme.
(2) Prevent the binding of substrate.

(3) Generally a strong covalent bond is formed between an inhibitor and an enzyme.

(2) Anionic detergents

(4) Soaps

(3) Vitamins

(4) Inhibitors can be competitive or non-competitive.

(4) Proteins

o
v

Which of the following chemicals can be added for sweetening of food items at cooking temperature

and does not provide calories?

(1) Sucrose

(2) Glucose

(3) Aspartame

Which of the following will not enhance nutritional value of food?
(1) Minerals

Which of the following statements are incorrect about receptor proteins?
(1) Majority of receptor proteins are embedded in the cell membranes.

(2) Artificial sweeteners (3) Vitamins

(4) Sucrolose

(4) Aminoacids

(2) The active site of receptor proteins opens on the inside region of the cell.
(3) Chemical messengers are received at the binding sites of receptor proteins.

(4) Shape of receptor doesn’t change during attachment of messenge

Phenacetin is used as :
(1) antipyretic

(2) antiseptic

Which of the following is not an antibiotic ?
(1) Penicillin

(2) Sulphaguanidine

(3) analgesic

(3) Chloramphenicol

Which of the following is used as a “morning after pill” ?
(1) Norethindrone

Which of the following is not true for antibiotics ?

(2) ethynylestradiol

(3) Mifepristone

(4) antimalarial

(4) None of these

(4) Bithional

(1) Tetracycline is one of the broad spectrum antibiotics which is effective against a large number of

harmful micro-organism.
(2) Streptomycin is highly effective against microorganisms which cause tuberculosis.

(3) Penicillin has a narrow spectrum and certain persons are sensitive to it.
(4) Penicillin may be administered without testing the patients for sensitivity to it.

Which of the following gives paracetamol on acetylation ?

OH OH OH OH
NH,
(1) ) @ 3) 4
NH,
NH,

Which of the following is correct set of physical properties of the geometrical isomers ?

)
(@)
3)
(4)

CH3\C _ C/H
H” I ¢

Dipole moment

1> 11

1>l

1> 11

In>1

CHa
& H”
Boiling point
1> 11
1>l
1> 11
1>l

II

_Cl
SH

C=C

Melting point
1>l
1>l
1> 11
1> 11

Stability
1> 11
1>l
1> 11
1> 11
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Decreasing order of boiling point of | to IV follow :

Methylacetate Ethylacetate  Isopropylacetate n-propylacetate
I Il 1M v
@li>u=>1m=>1v @ m=>1v=>Il>l @)IV>lI>11>1 @1>1>1v>ll
Which isomeric amine has lowest boiling point ?
(1) Primary amines (2) Secondary amine  (3) Tertiary amine (4) Can not be predicted.
Which of the following is correct method for separating a mixture of following compounds ?
O
NMe |
NO, : C - OH
COOH
COOH
NO,
CH,
(1) ag. NaHCO3 ag. NaOH ag. HCI (2) H,O ag. NaHCO3 ag. HCI
(3) aqg. HCI ag. NaHCO3 ag. NaOH (4) ag. NaOH ag. NaHCO3 aq. HCI

A mixture of organic compounds A & B when dissolve in NaOH, A is soluble and its residue B gives
positive test with Zn/ NH,Cl followed by AgNO, + NH,OH, (mulliken’s barker test). Identify A & B
OH NH,

OH NO,

) COOH COOH OH

NH

Which of the following statement is incorrect ?

(1) Dicarboxylic acids are soluble in water and in aq. NaHCO,
(2) p-nitrochlorobenzene is soluble in ag. HCI

(3) m-chlorophenol is soluble in aqueous sodium hydroxide
(4) Naphthalene and fumaric acid can be separated by water

Which is/are the correct method for separating a mixture of benzoic acid, p-methylaniline & phenol ?

(1) ag. NaHCO, . ag. NaOH (2) ag. HCl HO
. N . NaHCO, . N .

3) ag. NaOH ag. NaHCO ) ag. NaOH aqg. HCl
The order in which the reagent must be used to separate the compound | - IV is :

OH COOH NH, NO,

J‘: NO, J‘: NO, i NO, J‘: NO,

I Il I \Y

(1) NaOH, NaHCO,, HCI (2) HCI, NaOH, NaHCO,
(3) NaHCO,, NaOH, HCI (4) NaOH, HCI, NaHCO,

Which compound does not give positive Lassaigne's test for nitrogen ?
(1) Urea (2) Hydrazine (3) Azobenzene (4) Phenyl hydrazine
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34. o-nitrophenol and p-nitrophenol can be separated by .
(1) Fractional distillation (2) Steam distillation
(3) Crystallization (4) Fractional crystallization
35. Methanol and acetone can be separated by :
(1) fractional distillation (2) distillation (3) steam distillation (4) vacuum distillation

36. Glycerol is purified by :
(1) steam distillation (2) vacuum distillation  (3) fractional distillation (4) simple distillation

37. Two immiscible liquids are separated by :
(1) separating funnel  (2) fractional distillation (3) chromatrography  (4) sublimation

38. Sublimation is a process in which a solid :
(1) changes into another allotropic form
(2) changes into liquid form
(3) changes into vapour form directly from solid form
(4) none of the above

39. Anthracene is purified by :
(2) filtration (2) distillation (3) crystallisation (4) sublimation

40. In which case second has higher boiling point than first ?

@)
(1) >OH and D 2) >:o and >=

——OH OH [ )
©) and -~ 4) "\‘ and r‘\l
— o CH, 1
41. Vitamin C is a/an :
(1) lactone (2) amine (3) amide (4) alcohol

42. Which statement is incorrrect ?

(1) Dipole moment of HS@SH is non zero.
CN

(2) Melting point of H.Q CN s less than that of /=/

H,C
(3) Benzene, naphthalene and anthracene can be separated by water.
(4) Aniline and phenol can be separated by common acid HCI

43. Which of the following is listed for correct order of polarities :

(2) CH,-CH=CH-NO, > CH,CH=CH-NO,

(trans) (cis)

NO, NO,
(3) @ > © i ©
NH NH,

(4) CH, - CH, > CH, — CH, — Cl
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Which of the following compounds posses highest dipole moment.

(1) Naphthalene (2) Phenanthrene (3) Anthracene (4) Azulene
Which statement is incorrrect ?
F
— : . , : F F
(1) is having more melting point than \ /

F
(2) Oxalic acid is more soluble than adipic acid.
(3) Glycerol is more soluble in water than glycol.
(4) p-methylphenol and p-methylbenzoic acid can be seprated by NaOH.

Which compound have maximum dipole moment ?
O
o O

Y7
(1) % 2) 3) (4)

Azulene () has dipole moment 0.8 D because
(1) It exists as aromatic compound in which both the rings are aromatic.

® 0
(2) Charge separation permits conformational stability.
(3) The two rings are of different size.
(4) The molecules obey (4n + 2) Huckel rule.

o

Which statement is incorrrect ?

(1) Aspirin is an antibiotic.

(2) Methyl orange is an azo dye.

(3) Phenyl butazone is considered as a unsafe drug.
(4) The chemical name of aspirin isacetyl salicyclic acid

Which of the following colours is imparted by alizarin dye in presence of Cr3* ion ?
(1) Violet (2) Brown-red (3) Pink (4) Red

Which one of the following is not a broad spectrum antibiotic ?
(1) Tetracycline (2) Chloromycetin (3) Penicillin (4) None of these

N
J

PART -1 : NEET / AIPMT QUESTION (PREVIOUS YEARS)

Aspirin is an acetylation product of : [AIPMT 1998]
(1) ortho-hydroxybenzoic acid (2) ortho-hydroxybenzene

(3) method-hydroxybenzoic acid (4) para-dihydroxybenzene

Gammexane is : [AIPMT 1999]
(1) chlorobenzene (2) benzyl chloride (3) bromobenzene (4) benzene hexachloride

n-propyl alcohol and isopropyl alcohol can be chemically distinguished by which reagent: [AIPMT 2002]
(1) PCI, (2) reduction

(3) oxidation with potassium dichromate (4) ozonolysis
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Soaps can be classified as : [AIPMT-2003]
(1) carbohydrates (2) ethers (3) salts of fatty acids  (4) none of these

Which of the following is responsible for depletion of the ozone layer in the upper strata of the
atmosphere ? [AIPMT 2004]
(1) Polyhalogens (2) Ferrocenes (3) Fullerenes (4) Freons

The correct statement in respect of protein haemoglobin is that it : [AIPMT 2004]

(1) functions as a catalyst for biological reactions

(2) maintains blood sugar level

(3) act as an oxygen carrier in the blood

(4) forms antibodies and offers resistance to diseases

Green chemisty means such reactions which [AIPMT (Pre) 2008]
(1) produce colour during reactions

(2) reduce the use and production of hazardous chemicals

(3) are related to the depletion of ozone layer

(4) study the reactions in plants

Which one of the following is employed as a tranquilizer ? [AIPMT (Pre) 2009]
(1) Equanil (2) Naproxen (3) Tetracycline (4) Chlorpheninamine
Which one of the following is employed as a Tranquilizer drug? [AIPMT (Pre) 2010]
(1) Promethazine (2) Valium (3) Naproxen (4) Mifepristone.

Which one of the following is present as an active ingredient in bleaching powder for bleaching action ?
[AIPMT (Pre) 2011]

(1) CaOCl, (2) Ca(OCl), (3) CaO,Cl (4) CaCl,

Which one of the following is employed as Antihistamine ? [AIPMT (Pre) 2011]
(1) Chloramphenicol (2) Diphenyl hydramine

(3) Norothindrone (4) Omeprazole

Which one of the following statements regarding photochemical smog is not correct ?
[AIPMT (Pre) 2012]
(1) Carbon monoxide does not play any role in photochemical smog formation
(2) Photochemical smog is an oxidising agent in character
(3) Photochemical smog is formed through photochemical reaction involving solar energy.
(4) Photochemical smog does not cause irritation in eyes and throat.

Chloroamphenicol is an : [AIPMT (Main) 2012]
(1) antifertility drug (2) antihistaminic
(3) antiseptic and disinfectant (4) antibiotic-broad spectrum

Antiseptics and disinfectants either kill or prevent growth of microrganisms. Identify which of the
following statements is not true. : [NEET 2013]
(1) Chlorine and iodine are used as strong disinfectants.

(2) Dilute solutions of Boric acid and Hydrogen Peroxide are strong antiseptics.

(3) Disinfectants harm the living tissues.

(4) A 0.2 % solution of phenol is an antiseptic while 1 % solution acts as a disinfectant.
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15. Artificial sweetner which is stable under cold conditions only is : [AIPMT (main) 2014]
(1) Saccharine (2) Sucralose (3) Aspartame (4) Alitame
16. Bithional is generally added to the soaps as an additive to function as a/an : [AIPMT 2015]
(1) Dryer (2) Buffering agent (3) Antiseptic (4) Softener
17. Which of the following in an analgesic? [NEET-1 2016]
(1) Chloromycetin (2) Novalgin (3) Penicillin (4) Streptomycin
18. Mixture of chloroxylenol and terpineol acts as : [NEET- 2017]
(1) Analgesic (2) Antiseptic (3) Antipyretic (4) Antibiotic
19. Among the following, the narrow spectrum antibiotic is : [NEET-1- 2019]
(1) Chloramphenicol (2) Penicillin G (3) Ampicillin (4) Amoxycillin
20. The artificial sweetner stable at cooking temperature and does not provide calories is -
[NEET-2- 2019]
(1) Saccharin (2) Aspartame (3) Sucralose (4) Alitame
21. The liquefied gas that is used in dry cleaning along with a suitable detergentis - [NEET-2- 2019]
(1) Water gas (2) Petroleum gas (3) NO2 (4) CO2
PART - Il : AIIMS QUESTION (PREVIOUS YEARS)
1. Among the following, insecticide is : [AIIMS 2001]
(1) BHC (2) phosphene (3) chloral (4) aspirin
2. The nucleic acid base having two possible binding sites is : [AIIMS 2004]
(1) thymine (2) cytosine (3) guanine (4) adenine
3. The purine base present in RNA is : [AlIMS-2004]
(1) adenine (2) cytosine (3) uracil (4) thymine
4, Which one of the following biomolecules is insoluble in water? [AIIMS 2005]
(1) a-keratin (2) Haemoglobin (3) Ribonuclease (4) Adenine
5. Which of the following chemicals are used to manufacture methyl isocyanate that caused “Bhopal
Tragedy”? [AIIMS 2005]
(i) Methylamine (i) Phosgene (iii) Phosphine (iv) Dimethylamine
(1) (i) and (iii) (2) (iii) and (iv) (3) (i) and (ii) (4) (ii) and (iv)
6. Tincture of iodine is : [AIIMS 2006]
(1) aqueous solution of I, (2) solution of 1, in aqueous KiI
(3) alcoholic solution of I, (4) agueous solution of Ki
OCOCH,
COOH
7. The compound is used as : [AIIMS 2007]
(1) Antiseptic (2) Antibiotic (3) Analgesic (4) Pesticides
8. The "saponification value" of an oil or fat is measured in term of [AIIMS 2007]
(1) NH,OH (2) NaOH (3) KOH (4) C,H,OH
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The statement which is not correct, is : [AIIMS 2008]
(1) Chlorophyll is responsible for the synthesis of carbohydrates in plants

(2) The compound formed by the addition of oxygen to haemoglobin is called oxyhaemoglobin

(3) Acetyl salicyclic is known as aspirin

(4) The metal ion present in vitamin B,, is Mg?*

The sweetest artificial sugar among the following is : [AIIMS 2009]

(1) Aspartame (2) Sucralose (3) Alitame (4) Sucrose

Structural formula of Lewisite is : [AIIMS 2010]
CHCI CHCI CHCI CH,

1) |l 2 3) |l 4) |l

@ CHAsCh @ (l“lHAsCI 3 CHAsC} @ CHAsCb

Assertion : CO and NO both combine with haemoglobin. [AIIMS 2010]

Reason : NO has more affinity than CO towards haemoglobin.

(1) If both assertion and reason are true and reason is the correct explanation of assertion.
(2) If both assertion and reason are true but reason is not the correct explanation of assertion.
(3) If Assertion is true but reason is false.

(4) If both assertion and reason are false.

Assertion : Bithionol is added to soap for its beautification and solidification. [AIIMS 2010]
Reason : Bithionol is a sulpha drug.

(1) If both assertion and reason are true and reason is the correct explanation of assertion.

(2) If both assertion and reason are true but reason is not the correct explanation of assertion.

(3) If Assertion is true but reason is false.

(4) If both assertion and reason are false.

Identify the wrong statement in the following : [AIIMS 2012]
(1) Chlorofluorocarbons are responsible for ozone layer depletion

(2) Greenhouse effect is responsible for global warming

(3) Acid rain is mostly because of oxides of nitrogen and sulphur

(4) Ozone layer does not permit infrared radiation from the sun to reach the earth

The pesticide DDT slowly changes to [AIIMS 2012]
(1) CCL,-CHO and chlorobenzene (2) p, p’-Dichlorodiphenylethene

(3) p, p’-Dichlorodiphenyldichloroethane (4) p, p’-Dichlorodiphenydichloroethene

Which of the following is used for inducing sleep? [AIIMS 2012]
(1) paracetamol (2) chloroquine (3) bithional (4) barbituric acid derivatives
A broad spectrum antibiotic is - [AIIMS 2014]
(1) paracetamol (2) penicillin (3) aspirin (4) chloramphenicol

Assertion : Ranitidine is used to treat hyperacidity and brompheniramine is used to treat
hypersensitivity.

Reason : Both of these drugs are antishistamines. [AIIMS 2015]
(1) If both assertion and reason are true and reason is the correct explanation of assertion.

(2) If both assertion and reason are true but reason is not the correct explanation of assertion.

(3) If Assertion is true but reason is false.

(4) If both assertion and reason are false.

Assertion : HsPO4 and HzPOs both are present in fertilizers. [AIIMS 2018]
Reason : HzPOs increases the solubility of fertilizers.

(1) If both assertion and reason are true and reason is the correct explanation of assertion.

(2) If both assertion and reason are true but reason is not the correct explanation of assertion.

(3) If assertion is true but reason is false.

(4) If both assertion and reason are false.
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20. Assertion : Anti histamine does not effect secreation of acid in stomach : [AIIMS 2018]
Reason : Anti Histamine and antacids work on different receptors.
(1) If both assertion and reason are true and reason is the correct explanation of assertion.
(2) If both assertion and reason are true but reason is not the correct explanation of assertion.
(3) If assertion is true but reason is false.
(4) If both assertion and reason are false.
21. Which is incorrect [AIIMS 2018]
(1) Novestrol — Antifertility (2) Serotonine — Tranquilizer
(3) Narrow spectrum — Chloromphenicol (4) Rentac— antacid
PART - Il : JEE (MAIN) / AIEEE PROBLEMS (PREVIOUS YEARS)
1. Which of the following statements is true? [AIEEE-2002]
(1) HF is less polar than HBr
(2) absolutely pure water does not contain any ions
(3) chemical bond formation takes place when forces of attraction overcome the forces fo repulsion
(4) in covalency transference of electron takes place.
2. Compound A given below is - [AIEEE - 2002]
OCOCH,
COOH
A
(1) Antiseptic (2) Antibiotic (3) Analgesic (4) Pesticide
3. An ether is more volatile than an alcohol having the same molecular formula. This is due to -
[AIEEE - 2003]
(1) Dipolar character of ethers (2) Alcohols having resonance structures
(3) Inter-molecular hydrogen bonding in ethers (4) Inter-molecular hydrogen bonding in alcohols
4. Which of the following could act as a propellant for rockets ? [AIEEE - 2003]
(1) Liquid hydrogen + liquid nitrogen (2) Liquid oxygen + liquid argon
(3) Liquid hydrogen + liquid oxygen (4) Liquid nitrogen + liquid oxygen
5. Which of the following pairs of molecules will have permanent dipole moments for both members ?
[AIEEE - 2003]
(1) SiF, and NO, (2) NO, and CO, (3) NO, and O, (4) SiF, and CO,
6. The compound formed in the positive test for nitrogen with the Lassaigne solution of an organic
compound is - [AIEEE - 2004]
(1) Fe,[Fe(CN),, (2) Na,[Fe(CN), (3) Fe(CN), (4) Na,[Fe(CN),NOS]
7. Which one of the following has the minimum boiling point ? [AIEEE - 2004]
(1) n-butane (2) 1-butyne (3) 1-butene (4) I1sobutene
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Which one of the following method is neither meant for the synthesis nor for separation of amines ?
[AIEEE-2005]

(1) Hinsberg method  (2) Hofmann method  (3) Wurtz reaction (4) Curtius reaction

Which one of the following types of drugs reduces fever ? [AIEEE - 2005]
(1) Tranquiliser (2) Antibiotic (3) Antipyretic (4) Analgesic

The pyrimidine bases present in DNA are [AIEEE-2006]
(1) cytosine and guanine (2) cytosine and thymine

(3) cytosine and uracil (4) cytosine and adenine

Among the following mixtures, dipole-dipole as the major interaction, is present in [AIEEE-2006]
(1) benzene and ethanol (2) acetonitrile and acetone

(3) KCl and water (4) benzene and carbon tetrachloride

The hydrocarbon which can react with sodium in liquid ammonia is : [AIEEE-2008]
(1) CH,CH,C=CH (2) CH,CH = CHCH,

(3) CH,CH,C = CCH,CH, (4) CH,CH,CH,C = CCH,CH,CH,

Which of the following reagents may be used to distinguish between phenol and benzoic acid ?
[AIEEE-2011, 4/120]
(1) Aqueous NaOH (2) Tollen's reagent (3) Molisch reagent (4) Neutral FeCl,

Aspirin is known as : [AIEEE-2012, 4/120]
(1) Acetyl salicylic acid (2) Phenyl salicylate
(3) Acetyl salicylate (4) Methyl salicylic acid

Ortho-Nitrophenol is less soluble in water than p- and m- Nitrophenols because : [AIEEE-2012, 4/120]
(1) o-Nitrophenol is more volatile steam than those of m- and p-isomers.

(2) o-Nitrophenol shows Intramolecular H-bonding

(3) o-Nitrophenol shows intermolecular H-bonding

(4) Melting point of o-Nitrophenol is lower than those of m- and p-isomers.

What is DDT among the following : [AIEEE-2012, 4/120]
(1) Greenhouse gas (2) A fertilizer
(3) Biodegradable pollutant (4) Non-biodegradable pollutant

The gas leaked from a storage tank of the Union Carbide plant in Bhopal gas tragedy was :
[JEE(Main)-2013, 4/120]

(1) Methylisocyanate  (2) Methylamine (3) Ammonia (4) Phosgene

Which one of the following base is not present in DNA ? [JEE (Mains)-2014, 4/120]
(1) Quinoline (2) Adenine (3) Cytosine (4) Thymine

Which of the following compounds is not an antacid ? [JEE (Mains)-2015, 4/120]
(1) Aluminium hydroxide (2) Cimetidine

(3) Phenelzine (4) Ranitidine

Which of the vitamins given below is water soluble ? [JEE (Mains)-2015, 4/120]
(1) Vitamin C (2) Vitamin D (3) Vitamin E (4) Vitamin K
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Which of the following is an anionic detergent ?
(1) Sodium lauryl sulphate
(3) Glyceryl oleate

The correct match between item—I and item—lI

ltem—I

(drug)
(A) Chloroxylenol (P)
(B) Norethindrone Q)
© Sulphapyridine (R)
(D) Penicillin (S)

1)A->Q,B>P,C>S,D>R
BA->RB->S C->P,D>Q

The correct match between item (1) and item (ii) is:

Item - |
(A) Norethindrone
(B) Ofloxacin
© Equanil

(1) (A) = (Q); (B) = (R); (C) = (S)
3) (A) — Q) (B) = (P); (C) > (R)

The correct match between Item | and ltem Il is :

o
v

[JEE (Mains)-2016, 4/120]
(2) Cetyltrimethyl ammonium bromide

(4) Sodium stearate

[JEE (Mains)-2019, 4/120]
Item-l|
(test)
Carbylamine test
Sodium hydrogencarbonate test
Ferric chloride test
Bayer's test
2A->Q,B>S,C—>P,D>R
4HA->R,B>P,C—>S,D->Q

[JEE (Mains)-2019, 4/120]
Item -1l

P) Anti-biotic

(Q) Anti-Fertility

(R) Hypertension

(S) Analgesics

(2) (A) = (R); (B) >(P); (C) — (S)

(4) (A) > (R); (B) =>(P); (C) — (R)

[JEE (Mains)-2019, 4/120]

Item | Item Il
(A) | Allosteric effect (P) | Molecule binding to the active site of enzyme
(B) | competitive inhibitor | (Q) | Molecule crucial for communication in the body
(C) | Receptor (R) | Molecule binding to a site other than the active site of enzyme
(D) | Poison (S) | Molecule binding to the enzyme covalently

(1) A) > (P (B) > (R): (C) > (Q); (D)~ (S) () (A)—~ (R); (B) > (P); (C) > (S); (D) > (Q)
() (A) = (P); (B) > (R); (C) > (S); (D) > (Q) (4) (A) = (R); (B) > (P); (C) = (Q); (D) = (S)
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EXERCISE - 1
SECTION (A)
1. k) 2 @ 3. @ a4 2 . 3) 6. o 7. )
8. 3) o 4 100 (1) 1. (2 12 (@ 13 1) 14 4
5. (3 16. (4 17. (2 18 (1) 19 (1) 20. (2
SECTION (B)
1. @ 2 B) 3. @ a4 3) 5. 3) 6. @) 7. (4)
8. 1)
SECTION (C)
1. @) 2 @ 3 Q a4 4) 5. 2 6. Q 7. (4)
8. @) o @ 10, (1)
SECTION (D)
1. @ 2 @) 3. @ 4 @) 5. 2 6. @) 7. (4)
8. @) o Q) 10, (@ 11 (2
SECTION (E)
1. Q2 2 3. @) 4 3) 5. 1) 6. @) 7. (4)
8. @ o 3) 10. (3
SECTION (F)
1. @) 2 @) 3. @ 4 4) 5. 4) 6. Qo 7. ©)
SECTION (G)
1. @) 2 @ 3 @) 4 4) 5. 1) 6. @ 7. (4)
8. @ o (1)
SECTION (H)
1. @ 2 @ 3. @) 4 1) s @) 6. @ 7. 3)
8. @ o @ 100 (1
SECTION (1)
1. 2 2 @) 3. Q4 1) 5. 3) 6. Qo 7. 1)
8. (3)

EXERCISE - 2
1. @ 2 @) 3. Q) 4 @) 5. O 6. Q7 @)
8. 2 9 4 100 (2 11 2 12. @3 13 2 14 3
15 3) 16 (3 17 4) 18 2) 19, (24 20. (1) 21. (2
22 (3 23 (4 24 (3 25, (3 26 (3 2. (3 28 (2
290 (1 3. (@ 31 (@O 32 @3 33 (2 34 (2 3B A
3. (2 37 (1) 38 (3 39. (4 40. (4 4. Q) 42 @3
43. (2) 44 (4 45, (4 46, (1) 47. (1) 48 (1) 49. (2
50.  (3)

EXERCISE - 3

PART-I
1. Q2 @ 3 @) 4 @) 5. @) 6. @) 7. @)
8. @ o @ 10 (2 11. (2 12. (@) 13 (4 14 (2
5. (3 16, (3 17. (2 18 (2 19 (2 20 (3 21. (2

PART-II
1. Q 2 @ 3. Q 4 @ s @) 6. @) 7. 3)
8. @) o @ 100 (3 11. (3 12. (2 13 (49 14 (&)
15, (4 16, (4 17. (49 18 (4 19. (3 20. (4 2. (2

PART-III
1. @) 2 @) 3. @) 4 @) 5. @) 6. Q7. (4)
8. 3) o 3 100 (2 11 (2 12. (1) 13 (4 14 (1)
5. () 16 (4 17. (1) 18 (1) 19. (3 20. (1) 21 (U
22. (3 23. (3 24 (4
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